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QID: 1001 - In the following question,
Car: Tyre::?:?
Select the word pair related to the options given in the following question.

Car: wheel::? :?

Options:

1) House: Room

Home: Room

2) Labor: Salary

Worker: Salary

3) Camera: Photo

Camera: Photo

4) House: People

home: People

Correct Answer: House: Room
Home: Room

Candidate Answer: House: Room
Suite: Room

QID: 1002 - In the following question,
Triangle: Figure:: Car:?
Select the word related to the options given in the following question.

Triangle: Shape:: Car:?
Options:

1) Vehicle

vehicle

2) Seat

padding

3) Road

road

4) White

white

Correct Answer: Vehicle
Vehicles

Candidate Answer: Vehicle
Vehicles

QID: 1003 - In the following.question,
Hour: Minute:: Kilometer:?
Select the word related to'the options given in the following question.

Hour: Minutes:: kilometers:?
Options:

1) Meter

meter

2) Gram

Village

3) Litre

liter

4) Weight

weight

Correct Answer: Meter
Meter

Candidate Answer: Meter
Meter
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QID: 1004 - In the following question,
FRIL: OLUI:: TRAM:?
Select the letters related to the options given in the following questions.

FRIL: OLUI:: TRAM:?
Options:

1) PKUW
2) BDFW
3) DPFV

4) PDUW

Correct Answer: PDUW

Candidate Answer: BDFW

QID : 1005 - In the following question, select the related letters from the given alternatives.
ROCK:VSGO :: BELT : ?

FeafafEa uy 8 Ry 71g faeredt & € Hefa sreri st gi-gl

ROCK :VSGO :: BELT : ?

Options:

1) AKLM
2) FIPX
3) FCXT

4) ERPX
Correct Answer: FIPX
Candidate Answer: FIPX

QID : 1006 - In the following question, select the related letters from the given alternatives:
LS:HO::TQ:?

et vy & Ry g et & @ Fafla sreri & gfgl

LS:HO::TQ:?

Options:

1) FM

2) JG

3)CL

4)TF
Correct Answer: JG
Candidate Answer: JG

QID : 1007 - In the following question, select the related number from the given alternatives.
12:50::18:?

feafafea vy § Ry g faeedt 3 @ H6fa 9w @ gl

12:50::18:?

Options:

1) 40

2) 70

3) 80

4) 60
Correct Answer: 80
Candidate Answer: 80

QID : 1008 - In the following question, select the related number from the given alternatives.
11:121::15:?
frafafea v & Ry mg faedt & § wefda g @t g

11:121::15:?



Options:
1) 289

2) 343
3) 225

4) 217
Correct Answer: 225
Candidate Answer: 225

QID : 1009 - In the following question, select the related number from the given alternatives.
49:56::81:?
frafafea ue & Ry g foedt & § wefda g &t gfg

49:56::81:?
Options:
1) 92

2)88
3)76

4)84
Correct Answer: 88
Candidate Answer: 88

QID : 1010 - In the following question, select the odd word from the given alternatives.

fafafea vy 7 Ry 7 et & @ v 2ree ot gfg)
Options:

1) Hand

G

2) Legs

R

3) Lungs
e

4) Ear
<hlq

Correct Answer: Lungs

Candidate Answer: Lungs
v

QID : 1011 - In the following question, select the odd word from.the given alternatives.

FfafEa v 8§ Ry g et & @ o e &t gl

Options:
1) Lizard
feueett

2) Rabbit
Tm

3) Snake
g

4) Crocodile
HARATS

Correct Answer: Rabbit
ECruiNg

Candidate Answer: Rabbit
A

QID : 1012 -In the following question, select the odd word from the given alternatives.

fafafed vy 8 Ry 7 et & @ v ereg &t gfg)
Options:

1) Car

DR

2) Bus

9

3) Truck

R
4) Transport
uRaga



Correct Answer: Transport

Candidate Answer: Transport

QID : 1013 - In the following question, select the odd letters from the given alternatives.

FefafEa uy 8 Ry 71g foeredt & € faww steri ot gi-g)
Options:

Correct Answer: GDZ
Candidate Answer: GDZ

QID : 1014 - In the following question, select the odd letters from the given alternatives.

frafaf@a v & Ry 7y foemedt § 9 fwm sieri &t gl
Options:

1) LO

2) HS

3)IR

4)cy

Correct Answer: CY

Candidate Answer: CY

QID : 1015 - In the following question, select the odd letters from the given alternatives.

ffafae v & g 7y faehedt & & fwm sreri &t 9wl

Options:
1) XSNI

2) OJEY
3) UPKF
4) EZUP

Correct Answer: OJEY
Candidate Answer: OJEY

QID : 1016 - In the following question, select the odd number from the given alternatives.

feafafea vy 8 Ry 7 et & @ s S @t gl
Options:

1) 10 - 101

2)12-145

3) 24 - 577

4) 26 - 675

Correct Answer: 26 — 675

Candidate Answer: 26 — 675

QID : 1017 - In the following question, select the odd number from the given alternatives.

frafafea v 8 Ry g e & & fvw e ot gl
Options:

1) 23

2)37

3) 41

4) 51

Correct Answer: 51

Candidate Answer: 51

QID : 1018 -In'the following question, select the odd number pair from the given alternatives.

frafafead s d Ry 1y e § § fowm dw@n gw at gkl
Options:

1)11-26

2)16 - 33

3)13-28

4)18 - 33

Correct Answer: 16 — 33

Candidate Answer: 18 — 33



QID : 1019 - According to dictionary, which of the following word will come at second position?

1. Easily
2. Earmark
3. Ear

4. Ease

5. Earthy

TEERIRT S SR, Fmfoiad & @ o 7 2reg gER T W Imm?

1. Easily
2. Earmark
3. Ear

4. Ease

5. Earthy

Options:
1) Earmark

2) Earthy
3) Ease

4) Easily
Correct Answer: Earmark
Candidate Answer: Earmark

QID : 1020 - From the given alternatives, according to dictionary, which word will come at LAST position?

g 7Tq faehedl & 9, TeaehiST & SR, i AT ATea SHfH W WR Sm?
Options:

1) Opaque

2) Ointment

3) Orderly

4) Ordinary
Correct Answer: Ordinary
Candidate Answer: Ordinary

QID : 1021 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Outlook

2. Outlet

3. Outburst

4. Ornament
5. Outrageous

fffad el @t reaentar & 11 arel o & S1gER ford|

1. Outlook

2. Outlet

3. Outburst

4. Ornament
5. Outrageous

Options:
1) 43215
2) 34215
3) 25341

4) 52341

Correct Answer: 43215

Candidate Answer: 43215

QID : 1022 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
LMK, FGE, ZAY, TUS, ?

e SeRH foam maT §, e § Uk U g &1 Ry g et & § a8 9@ fered g, St orgehd &l g1 e

LMK, FGE, ZAY, TUS, ?



Options:
1) BMQ

2) SRB

3) LZD

4) NOM

Correct Answer: NOM

Candidate Answer: NOM

QID : 1023 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
RSK, TVM, VYO, XBQ, ?

Qe 31ehA o T 8, e @ gk ue g 81 Ry g fenedt 7 @ a8 98t fened gy, St orgeed sl R

RSK, TVM, VYO, XBQ, ?
Options:
1) RGT

2) YFA

3)LQT

4) ZES

Correct Answer: ZES

Candidate Answer: ZES

QID : 1024 - A series is given with one term missing. Select the correct alternative from the given ones that will.complete the series.
KPM, PVR, UBW, ZHB, ?

ek eRH foam man 8, Ores @ Uk v g 81 Ry 7q feredt & § a8 9l ferey g, it srerd ot g1 e

KPM, PVR, UBW, ZHB, ?

Options:
1) LQV

2) NGT
3) ENG

4) HIR
Correct Answer: ENG
Candidate Answer: ENG

QID : 1025 - In the following question, select the missing number from the given alternatives.
35,39, 48, 64, 89, ?

frafaf@a v & Ry 1y faeed § 9 g i 719 FIfSwl

35,39, 48, 64, 89, ?

Options:

1) 169

2) 120

3)125
4)134

Correct Answer: 125

Candidate Answer: 125

QID : 1026 - In the following question, select the missing number from the given alternatives.
41,13,54,67,121,?

Frafafegus d Ry 7 el & @ g sie 1d SIS

41,13,54,67,121,?
Options:

Correct Answer: 188
Candidate Answer: 188



QID : 1027 - In the following question, select the missing number from the given alternatives.
9,23, 50, 103, 208, ?
fafafea vy § Ry 7 et & @ g sie 1a hiforg

9,23, 50, 103, 208, ?
Options:

Correct Answer: 417
Candidate Answer: 417

QID : 1028 - Five people are standing in a ticket booking line. A,C and D are standing together, D is between A and C. A is immediately behind B and E isimmediately
behind C. Who is standing second last in the line?

Ui o Rfhe g R emga d @S &1 A, C R D g T w2 €, D, A R C H fim w1 &1 A, B & Ech i & SR E, C & &tep Ui &1 org & ofd § gER WIH | Hhi @1 82
Options:

Correct Answer: C
Candidate Answer: C

QID : 1029 - At a family gathering C explained her relation with D by saying that D is the grand daughter of C's mother's mother. If C's mother has no siblings, then how
is D related to C?

Qe UTRaTReS THRIE & C A D J 0T Ty SIaTd §Y el foh D, C Y /7 <l | i ticht &1 3 C Yy w17 & el 17 we1 g1 & &t D, C & vy e aifa 87
Options:

1) Daughter

Ea

2) Wife

et

3) Sister
Rl

4) Mother
Hi

Correct Answer: Sister
CEN]

Candidate Answer: Sister
CEN]

QID : 1030 - From the given alternative words select the word'which cannot be formed using the letters of the given word.
CHAUVINIST
frafafEd ol § @ g ree giRg St Y 7Y 2rea & SaR el SRINT ek 8] ST ST ehdT:

CHAUVINIST
Options:
1) chain
2) acute

3) stain

4) china
Correct Answer: acute
Candidate Answer: acute

QID : 1031 - If CHATEAU is coded as DIBUFBV, then how will FOX be coded as?

gfe CHATEAU &t sl & DIBUFBV foraT Sirar & dt FOX @t shte # ot fordat?
Options:

1) ULC

2) ENW

3) GPY

4) GPz

Correct Answer: GPY

Candidate Answer: GPY



QID : 1032 - In a certain code language, 2579 means 'nice bow and arrow', 3457 means 'healthy and nice fruit' and '8721 means 'bow to nice king'. Find the code for
'bow'".
foneft ffya ente o & 2579 &1 31ef & 'nice bow and arrow', 3457 @t 31f & 'healthy and nice fruit' 3R '8721' @t 312f & 'bow to nice king'l 'bow' & foiY &ie ATa &R

Options:
15

2)2
3)7

4)9
Correct Answer: 2
Candidate Answer: 2

QID : 1033 - In a certain code language, '+' represents -, - represents 'X', 'x' represents '+ and '+' represents '+'. Find out the answer to the following question.
100x5+15-12+6=?
foreh fAfa st o & '+, - Al Ueffa axar &, ', 'x' Y veffa a=ar 8, 'x, '+ ot vefia oear & ofR '+, '+ Y vefia axar &1 fmfefeEa usr &1 SR Araae?

100x5+15-12+6=?
Options:

1) 513

2) 71

3)-31

4)-154

Correct Answer: -154
Candidate Answer: -154

QID:1034-1f74%36=2,29% 61 =4 and 19 % 26 = 2 then find the value of 48 % 25 =7

e 74 % 36 =2,29 % 61 =4 3R 19 % 26 = 2 a1 48 % 25 = ? &T HMH Td H?
Options:

1) 23

2)73

3)5

4)2

Correct Answer: 5

Candidate Answer: 5

QID : 1035 - If A $ B means A is daughter of B, A # B means A is brother of B andIf A * B means A is father of B, then what does P $ Q * R # S mean?

TRASBAR IS EFA BRGNS A#BHIISHABARIMEZIRIRA*BA AL H A BFIUAE AP SQ*R # S 1 am a1ef 82
Options:

1) P is mother of S

PSHraig

2) P is daughter of S

PSH Tt &

3) Pis sister of S

PSHhIagTg

4) P is mother's mother of S
PSHraidhraig

Correct Answer: P is sister of S
PS&HITET?

Candidate Answer: P is sister of S
PS&HITET?



QID: 1036 -

Select the missing number from the given responses

fer T frepedlt < g8 W g

)

10

=

w (00

Options:
16

2)14
31

4)17
Correct Answer: 14
Candidate Answer: 14

QID : 1037 - Which of the following terms follows the trend of the given list?
AABAAAAA, ABAAAAAA, BAAAAAAA, AAAAAAAB, AAAAAABA,
frfafead 7 § &9 91 ug § it &t & oA & SIgER 87

AABAAAAA, ABAAAAAA, BAAAAAAA, AAAAAAAB, AAAAAABA,
Options:

1) AAAAABAA

2) AAAABAAA

3) AAABAAAA

4) AABAAAAA

Correct Answer: AAAAABAA

Candidate Answer: AAAAABAA

QID : 1038 - A plane takes off and flies 30 km South. Then it turns East and flies 10 km, then it turns to its left and flies 25 km, then it turns and flies 10 km towards
West. Where is the plane now with respect to its starting position?

Toh & I8 e 30 fonetivier afgior den Sirar &1 fOR a8 gd.ht 3R 10 fohcifier den I & ofiR fthe a8 o7k gz 25 foheilifier aer It &1 o 78 10 foreitfiex ufgw &t sk
IeaT 1 @i U URes R @ et {82

Options:

1) 5 km South

5 fopettHeR

2) 5 km North
5 foperiter IR

3) 55 km South
55

4) 55 km North
55 fepetiiier IR

Correct Answer: 5 km'South
5

Candidate Answer:'5 km South
5 freiier gfar

QID : 1039 =Two motorcycle riders start from the same point. Rider A goes 15 km North then turns to his right and rides for another 8 km. Rider B goes 9 km West,
then turns North and rides for 4 km and then turns to his right and rides 17 km. Where is rider A with respect to rider B?

3 HieRHTSIohe FaR Gk o1 foig O Te1 TRY hd 8 | AR A, 15 fRciiFiiex ITR i 3R TeldT § dT 3o 916 aT3 SR Jgane G: 8 fohetiwier Ierdn 81 9aR B, 9 foheiiviiex uffw &t &k
AT & IR R ITR i 1R 4 Fretiiex =rerar & auT fhe arfet 3k gsa 17 fhahfier Ieiel &1 9aR B & Hasf # 9aR A &gl 82



Options:

1) 11 km South

11

2) 11 km North

11 fhelter ST

3) 19 km North

19 freifier ST

4) 19 km South

19 fereifieR afgror

Correct Answer: 11 km North
11 foheltHeR SR

Candidate Answer: 11 km North
11 fohelteR SR

QID : 1040 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems tobe at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No students are scholars
Statement II: No students are teachers

Conclusion I: Some teachers are scholars
Conclusion II: All scholars are teachers

uy § &l A 33 T & o omt &t fser | of 1| et M &1 Simgent | € 16 SN e I € 918 9 IrHa; T 9t § {9 welid gla gl ermuehl fAofa @k & i g g
sl & @ epi-a1/a-8 RfYT U @ Su gR1 el Fentel ST ehdr &/dd €, afe s g

Y |: IS BT ThieR el &
U II: 1S o Rerds 78 2

forsen I: e Rierd whier &
forseRe 11: Tt wRteres fRrern &
Options:
1) Only conclusion | follows
| 5é g
2) Only conclusion Il follows
Fad ey || 98t 3
3) Both conclusions | and Il follow
ST s | SR 11 9@t B
4) Neither conclusion | nor conclusion Il follows

1t Freenef | @@l § 1 81 Fsem] |1

Correct Answer: Neither conclusion | nor conclusion Il follows

1t Freenef | @@l § 1 81 Fsemd |1

Candidate Answer: Only conclusion Il follows

e sy || T8l §

QID : 1041 - In the question three statements are given, followed by three conclusions, |, Il and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All cotton is cloth
Statement Il: All cotton is shirts
Statement Ill: Some cotton is woven

Conclusion I: Some woven is shirts
Conclusion Il: Some cloth is woven
Conclusion IlI: All cloth is shirts

e 7 9wy 3 M & S om i Asewd |, 11 3R 11| et 72 €1 siruent a1 & o6 fiei et g & @ng a8 g T et @ 99 vedta gid gl smuent fofa s & i few o
frepet & @ epa-T1/epa-8 YT T0 wU gRT 98! Renter ST GevdT &/9ed €, afe &is gt

HYF |: Goft pica pueT @
HY I Tft FleT 2 &
U lll: FS P TG

frsnef | p g gen e @
frspef I1: p© FUST T g &
fAsne 111 geftreroer 2rd @
Options:
1) Only conclusion | follows
et fAeny | T8t &
2) Only conclusion Il follows
Il 5t g
3) Only conclusions | and Il follow
ot fshy | SR 1l 98t 8
4) All conclusions |, Il and 11l follow

= s |, 11 SR 11 T &

Correct Answer: Only conclusions | and Il follow

had feme | ofR Il T8 &



Candidate Answer: All conclusions |, Il and Il follow

f= freenef |, 11 ofiR 111 91 &
QID : 1042 -
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

fFreAfeTRae ST STmepfar & i AT O T Y
3TTEpfer et B | ST 8T oI FehalT?

Options:

1)

N

o) &0 &

w

S




Correct Answer:

==

Candidate Answer:

Sy

QID : 1043 -
Which of the following answer figure patterns
can be combined to make the question figure?
Frferfiaa o ey 5§ & @i & ofodl 31
Sirge B oy sl et s S e £2

Options:

1)

2)

3)

4

Correct Answer:

Candidate Answer:



QID : 1044 -

In the following figure, square represents
lawyers, triangle represents cyclists,
circle represents men and rectangle
represents post-graduates. Which set of
letters represents men who are not
cyclists?

frforfiae f2mr 5 o, aehiel @ wafi ava &,
By TTgeforee o1 wefiid a8, g o & st
T U1 IUH (ST BT Haf¥ie e &
&R &1 P AT FE S Gou| Pl HEfHia B & S

| ,’H/G
[/ /ETE
E

Options:
1) FGBK

2) CDIJ
3) JCKB

4) JIHG
Correct Answer: CDIJ
Candidate Answer: CDIJ

QID : 1045 -

Which of the following Venn diagrams represents the
relationship between Mothers, Nurses and Engineers ?

frrferRaet & & i &1 O oy g, S aiik oo &




Options:

@
o

2)

3)

4

» 8

Correct Answer:

<

Candidate Answer:

<

QID : 1046 -

Which answer figure will complete the pattern in the
question figure?

frferRaa & & atq-dt Sav enafcr wy smafer & ufered

Ny
713




Options:
1

\
¥

2

-
N

3

4

£

Correct Answer:

bR

Candidate Answer:

i




QID : 1047 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&1 Tt STR AR H I 3Pt T AT o my

argfer ffea 21

Options:
1)

N

2)

3

4)

Y

/ /\\

Correct Answer:

>

N




Candidate Answer:

)

N

QID : 1048 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T ST H AT SFTHR BT DT AISHR I
BE PR AT WIer & I1E I8 b IR MMepfer ST
e 3

Options:

1)

2)

3)

4)




Correct Answer:
u & u
RS
= | =
n2n

Candidate Answer:
1] & u
0 [=

S &

n2n

QID : 1049 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

Af e ST T MN T UR 3T 1Y a1 & R 3T
STTPITAT 5 H DI-ET SIPIeT T4 TP T Fal
ufafers grft?




ions:

2)

3)

4)




QID : 1050 -

A ward s represented by only one set of numbers 2 given In any ene of the altematives. The sets of numbers
gven in the alternatives are represented by two classes of alphabets as shown In the given b matrices.
The columns and rows of Matre| are numbered from 0 to 4 and that of Matriell are numbered
from 5 to 9. A letter from these matrices can be represented first by its row and neat by s column, for
eampe 7' can be represented by 79, 59 etc and ' can be represented by 31, 20 efc. Similary
you have to identify the set for the word TURF.

W S @ TR an g e it @
A o m & ﬁmﬁmmmmmﬁaavnaamafwmg aa
& fow 7w & g # B m]#mﬁrmﬁmmﬁmwmu
A543 7 g ¥ & 3 A O 59 e 3 4 A o T @
g @ w5 £l Fgmw & fv P& 79, 59 W @w aifw v ¢
1A 3N, N0 R oty T A § e v A R
g TURF' & T 99 #1 o

Matrix | Matrix |l
«] =l
0 1 2 3| 4 | 5 & 7 8 9
0| D]l L | H | ® 5 | ulalwle
SN ERERESE S T T
2 i H | L] F 7 Rl w | N Ll
3 C | G H | M 8| v {1 ¥ N | X
4 L | D C )| E 3 | R | S 1 5 ]
Options:
1) 67,99,75,23

2) 89,56,41,34
3) 87,97,42,12

4) 97,56,75,24
Correct Answer: 97,56,75,24
Candidate Answer: 97,56,75,24

QID : 1051 - Income and Expenditure Account is

I IRTTA@ _______ garg?

Options:
1) Property account
oy oar

2) Personal Account

3) Nominal Account
T-Tg

4) Capital Account
g il

Correct Answer: Nominal Account
3G-T AT

Candidate Answer: Nominal Account
G- AT

QID : 1052 - Commodity or product differentiation is found in which market?

TG a1 TG [ forg FToTR & ara ST 82
Options:
1) Perfect Competition Market
gof ufeatfh s
2) Monopoly Market
STSTR
3) Imperfect Competition Market
3ot ufaat R
4) No option is correct
@ig oft formey Tt T @
Correct Answer: Imperfect Competition Market
TSR

Candidate Answer: Perfect Competition Market
TSR



QID : 1053 - The economist who for the first time scientifically determined National Income in India is

IR & Ugelt IR I a8 S TP s A Mo A art orefamet &)
Options:

1) Jagdish Bhagwati

STTENRT STt

2) VK.R.V. Rao

&R g

3) Kaushik Basu

AR g

4) Manmohan Singh
&g

Correct Answer: V.K.R.V. Rao
..o g

Candidate Answer: V.K.R.V. Rao
@&

QID : 1054 - Which of the following is not a part of the non-plan expenditure of central government?

S0 @ @ the GRehR el TR-GISTT g el 31T 78 82
Options:
1) Interest payment
TS T
2) Grants to states
[t e
3) Electrification
R @S
4) Subsidy
GIEE

©

Correct Answer: Electrification
RET

Candidate Answer: Grants to states

T Rl SIS
QID : 1055 - The percentage of decadal growth of population of India during 2001-2011 as-per census 2011 is

2071 &Y SRTUMT & AR 2001-2011 3 G20k H 9R i ST Jig gfcerd off|

Options:
1) 15.89
2)17.64
3)19.21
4) 21.54
Correct Answer: 17.64

Candidate Answer: 21.54

QID : 1056 - The concept of Constitution first originated in which of the following countries?

Sferer Y Hered T o1 Iga Famew Frfafed 7 & foa dard gan?

Options:
1) Italy
geatt

2) China
#=
3) Britain
e

4) France
g

Correct Answer: Britain

Candidate Answer: France
g

QID : 1057 - The Parliament has been given power to make laws regarding citizenship under which article of the Constitution of India?

TR iauT & fhT S & I5d TUS Sl ANTRERdT & Gae H i S o IR Tar forar mar 82
Options:

1) Article 5

3Te 5

2) Article 7

AR 7

3) Article 9

FFDT 9

4) Article 11

=T 11



Correct Answer: Article 11
IgRE 11

Candidate Answer: Article 5
a 5

QID : 1058 - Which one of the following cannot be the ground for proclamation of Emergency under the Constitution of India?

fr=fafaa & o a1 v aRdT GiRem & siaefd siaTdenrer 6l IGIVUT AT SR 78 8 Jehdl 57
Options:

1) War

s

2) Armed rebellion

g fagig

3) External aggression

TG ATShHAUT

4) Internal disturbance

Srfafees srerifa

Correct Answer: Internal disturbance
i arerifer

Candidate Answer: War

T&

QID : 1059 - The 100t amendment in Indian Constitution provides

IR SfAe™ 7 100-af dMed U T 8
Options:
1) Protection of livelihood and regulation of street vending
Shiferent <l graim 3R thdtaret et fafas
2) Acquiring of territories by India and transfer of certain territories to Bangladesh
RA GRT ST I UTCT AT SR TATGL F HS &A1 BT §EATAROT HeAT
3) Emoluments, Allowances and Privileges to the Governors
i sifies, vl ofiR fasiy i
4) Reorganisation of state of Andhra Pradesh
3ATET UG & TS
Correct Answer: Acquiring of territories by India and transfer of certain territories to Bangladesh
R GRT &1 I UTCT AT SR TATGL F HS &A1 Rl AT HeAT
Candidate Answer: Protection of livelihood and regulation of street vending
&Y GR&T SR AT

QID : 1060 - Which one of the following is not a constitutional body?

frafafea & € w1 ge dfeufe e 78 82

Options:
1) The Election Commission of India
VR el Hafas s

2) The Finance Commission

3) The Official Language Commission
RTSTHTYT ST

4) The National Commission for Women

Correct Answer: The National Commission for. Women
et Afger smaiT

Candidate Answer: The Official Language Commission
ISTHTHT

QID : 1061 - Which Buddhist scripture describes about 16 Mahajanapadas?

I T Sig TY 16 HEISTUE] hl Ieoi’d hedl &7

Options:
1) Digha Nikaya
&y e

2) Sutta Pitaka
g fUeen
3) Anguttara Nikaya
SRR e

4) Vinaya Pitaka
fara e

Correct Answer: Anguttara Nikaya
SR e

Candidate Answer: Digha Nikaya
& e



QID : 1062 - The Chinese Pilgrim who visited India in the early 6th century was

BET AT h [FITA H WRd T T TR A AT AT <frefamsht g
Options:

1) Hiuen Tsang

2) Fa-hien

IfeaT

3) Sung Yun
gy

4) I-tsing
i

Cprrect Answer: Sung Yun
g

Candidate Answer: Fa-hien

QID : 1063 - Which one of the following was the capital of the sultanate during the reign of lltutmish?

TeIArART o QT § Fed-d i Terermt frafafed § & aa- oft?
Options:

1) Agra

ST

2) Lahore

AR

3) Badaun

ey
4) Delhi
feeett

Correct Answer: Delhi

Candidate Answer: Lahore

QID : 1064 - The ideas of non-cooperation movement during freedom struggle did not envisage on

T GUTH & SR §Q UGN gt dhl uRepea-md ____ <mfit 78 o
Options:

1) the bycott of civil services

UM Jarei ot afgshR

2) the bycott of foreign goods

et Garsif o1 afgepR

3) Common riots (violence)

& (B

4) the surrender of British titles

fafesr Junfer et aReamT

Correct Answer: Common riots (violence)
3 &t (fam)

Candidate Answer: Common riots (violence)

3\ &t ()
QID : 1065 - Who among the following participated in the Salt Satyagraha of Gandhiji?

freafafea § @ forea miifisht & F9e deamg 8w foar?
Options:
1) Sarojini Naidu
A A1Ig
2) Rajkumari Amrit Kaur
3Hd BR
3) Kamladevi Chattopadhyaya
HAAT! TEIATEA™

4) All options are cotrect.

T+t frenen Tt 8.

Correct Answer: All options are correct.

gofY fqereg

Candidate Answer: Sarojini Naidu

Tfor aIg

QID : 1066 - Which among the followings is not the result of underground water action?

fr=fafea & o a1 ue yfamd s forar a1 aRome &1 82



Options:
1) Fiords
frae

2) Sink holes

IREFC]

3) Stalactite

oege

4) Stalagmite
wehHTEe

Correct Answer: Fiords

Candidate Answer: Fiords

QID : 1067 - In which of the following countries the Great Victorian Desert is located?

ol frg 2§ O R s R &2

Options:
1) South Africa
gfeyor arhicT

2) South America
Ziaror ST
3) Australia

4) China
Sic
Correct Answer: Australia

Candidate Answer: Australia

QID : 1068 - Which of the following is a typical feature of river erosion in youthful stage?

gaTaeen # e 3TuReH 1 Ueh AfIE g afafea # § e @2
Options:
1) Gorge
TSt
2) Cut-bank
hl-B dc
3) Ox-bow lake
Eic)

4) Natural Levee
qesy
Correct Answer: Gorge

Candidate Answer: Ox-bow lake

QID : 1069 - Which of the following Indian state does:not-share boundary with Myanmar?

fafafEa 7 9 frg wrdla s 6 G =R & gy 98 @t 82

Options:
1) Assam
A

2) Manipur
3) Nagaland
e

4) Arunachal Pradesh
STUTE Tl

Correct Answer: Assam
A

Candidate Answer: Assam
A

QID : 1070 - Bhavanisagar Dam or Lower Bhavani Dam, is located in which state?

IR ST a7 AR a1 aief fohg g & {82



Options:
1) Tripura

2) Bihar
[EEIN
3) Tamil Nadu

4) Telangana
aetTET
Correct Answer: Tamil Nadu

Candidate Answer: Telangana

QID : 1071 - Which of the following is a scheme of Government of India for providing online connection of LPG?

YR TRPR GRT ATTZH YAUtSHt e Te e i aerr fA=fafaa & & sta-eft 82
Options:

1) SAHAJ

SES

2) SARAL
el

3) BHIM
o

4) DIGI DHAN
fosft e

Correct Answer: SAHAJ
SES

Candidate Answer: SARAL
el

QID : 1072 - Which one of the following schemes is aimed at all-round development of adolescent girls in.the age group of 11-18 years and making them self-reliant?

fafafea 3 @ fora i o1 383 11-18 af smg-at it frenfat et gaftfior faemy svem ofik 32 sirerfasRk s=m &2

Options:

1) RGSEAG
2) IGMSY
3) NMEW
4) RMK

Correct Answer: RGSEAG
Candidate Answer: RGSEAG

QID : 1073 - Bharatnet Project is related to which of the following?

WRae vt frfafed 7 € i d&faa 82

Options:
1) free wifi to students in rural area
‘ F 2 forg :Sgeeh aTé- T
2) High speed internet to farmers
Rt & fog greeds e
3) Broadband connectivity to gram panchayats
e ‘ toite FAfR RS
4) A project connecting rural area with urban area
areftor g5 Bt 2rERt it § SiteH aredt
Correct Answer: B\l:oa_dband connectivity to gram panchayats
uH

Candidate Answer: Broadband connectivity to gram panchayats

I T & g siess

QID : 1074 - Which of the'following countries will host the Commonwealth Games in 2018?

fafafea 3@ in-a1 337 2018 & TgHAvSH Qe i AsTart dham?
Options:
1) Sri Lanka
Sfietent
2) Indonesia
R
32'Australia
4) Britain
e

Correct Answer: Australia

Candidate Answer: Britain



QID : 1075 - In December 2017, who won the World Rapid Chess Championship Title 2017 held in Riyadh, Saudi Arabia?

feEieR 2017 &, Rame, 93t ora § maiford sy e wravst A= f&are 2017 &t e sftar?
Options:
1) Magnus Carlsen

2) Viswanathan Anand
[ECCIPERCIETS
3) Vladimir Fedoseev

4) lan Nepomniachtchi
Euic

Correct Answer: Viswanathan Anand
IEECIDERIE

Candidate Answer: Magnus Carlsen

Y et

QID : 1076 - "Gandhi in Champaran” is writtenby ______.

"mief} g7 duRA" RIS CIRIEE]

Options:

1) Arundhati Roy
sreefa AT

2) Fatima Bhutto
TRIfaHT

3) Dinanath Gopal Tendulkar
ATy MU dgete

4) Harper Lee
R =t

Correct Answer: Dinanath Gopal Tendulkar
9T

Candidate Answer: Arundhati Roy
sipufa T

QID : 1077 - Who among the following has received Arjuna Award in August 20177

ffafEa 7 8 fores e 2017 # S1o[H qREHR T foRar 87
Options:
1) Harmanpreet Kaur

2) Sardar Singh
TR g

3) Bhupender Singh
o= &g

4) P. A. Raphel
. T. Ather

Correct Answer: Harmanpreet Kaur

Candidate Answer: Bhupender Singh

o= &g

QID : 1078 - Which of the following.is the 14th Intangible Cultural Heritage from India to be listed in UNESCO's list of Intangible Cultural Heritage of Humanity?

FAfafad & & o WRa 6l 3R F ZA%R! ehl ATedT i S Aikepfeh farrad Gt # Gffferd &hi 715 9Rd Y 3R T Zrwent i 14-d 30T Hikpfaeh ORTEd 87
Options:

1) Ramlila

LG

2) Mudiyett

3) Kumbh Mela

EREC
4) Sankirtana
et

Correct Answer: Kumbh Mela
G Jet
(;andidate Answer: Kumbh Mela

G Jet

QID : 1079 - The Union Finance Ministry’s Revenue Department has imposed a five year anti-dumping duty on Sodium nitrite imports from which of the following
country?

T ot Harer o e e 3 fafefaa & @ forg 3 @ Tifeaw amsiie & smard o 5 awt & forg d&-8fum e v 82



Options:
1) Japan
SIa=

2) China
CiEt

3) United States of America
Tg<h TG

4) Russia

=g

Correct Answer: China

Candidate Answer: China

QID : 1080 - Which neighbouring country of India celebrates its Independence Day on March 26?

IR T I TT TSI 42T 26 AT St TUT WA=IaT feaw H-7aT 872

Options:

1) Bangladesh
TTeTT&er

2) Pakistan

BlIEESIc]

3) Nepal
arer

4) Sri Lanka
sfietent

Correct Answer: Bangladesh
fTeTTesr

Candidate Answer: Bangladesh

AT

QID : 1081 - Which of the following is NOT an operating system?

frfafed & @ & a1 g sifRfe e 78 82

Options:
1) Unix

2) Ubuntu

SR

3) MS-DOS

THIE-E

4) MS-Excel

THYH-Yere

Correct Answer: MS-Excel
THUH-Yee

Candidate Answer: MS-Excel
THUH-Yee

QID : 1082 - Instructions to computer are given through .

YR A A & sma g1
Options:

1) Input unit

e gfie

2) ALU

Uy,
3) Printer
e

4) Pen drive

EREES

Correct Answer: Input unit
Fge g

Candidate Answer: Input unit

§19e gHe

QID : 1083 - Which of the following is slaked lime?
T d S g gsn e arg?



Options:
1) Ca(OH),

2) Ca0
3) CaCO4

4) CaCI2
Correct Answer: Ca(OH),
Candidate Answer: CaO

QID : 1084 - Among the following respiration is which type of process?

fFrafafEa 7 9 ga= i @ sifafohar &1 g uaR 82

Options:
1) Exothermic process only
ShereT oA

2) Endothermic process only

et AT

3) Both exothermic and endothermic
SeATEt qorr oA gt

4) Neither exothermic nor endothermic

T af Seredt 7 gt SRt

Correct Answer: Exothermic process only
FeATEdY

Candidate Answer: Neither exothermic nor endothermic

T af Seredt 7 gt SRt

QID : 1085 - In Modern Periodic Table, while moving left to right across a period, the metallic character

3myfe ammad areft 7, fohet srrerd # o @ < ST W enfeen et I

Options:

1) increases

CEXI]

2) decreases

Hearg

3) remain same

A BT &

4) first increases then decreases
Uget dgdT & R Tear @
Correct Answer: decreases
Hearg

Candidate Answer: decreases
r I

QID : 1086 - How many moles are present in 36 gm of water?

36 7T ST # fehat HieT U 1d €7

Options:
01

2)2
3)4

4)8
Correct Answer: 2
Candidate Answer: 2

QID : 1087 - In which'mirror, image formed is virtual, errect and point sized?

for gdur & gfafefar sareht, Wheft qor fofg & a1 & st 82

Options:

1) Plane

HAA

2) Convex

RS

3) Concave

kiCRE]

4) No option is correct.
I faehed HEl e 81
Correct Answer: Convex
RS

Candidate Answer: Convex
RS




QID : 1088 - Which of the following affects the resistance of the wire?

fFfafEa § § aF aR & Ufkty IR Ua STerdr 82
Options:

1) Resistivity

HfeRteehdr

2) Length of wire

R &l s

3) Area of cross section of wire

TR % IR HIC T STl

4) All options are correct

goft 4

Correct Answer: All options are correct

g} freT Tl &

Candidate Answer: All options are correct

g} freg Tl &

QID : 1089 - Which of the following statements are CORRECT?

1. Force applied on the conductor depends on magnitude of current.
1l. Force applied on the conductor depends on magnitude of magnetic field strength.
11l. Force applied on the conductor depends on the direction of current.

frfafed & § a9 & & | 82

. TTeeh R SR &t fgga ey & ufemor R feR vt &1

1. =TeTeh R ARG ST arehra & e & afRATor wR R e g1
111, T7eTeh TR RIS et faege oy i fReam R AR a=ar 21
Options:

1) Only land Il

Fad | qull

2) Only Iand Il
Shaet | qT il

3) Only Il and Il
cecllkell
4) All are correct.

gRt g €1

Correct Answer: Only | and Il

hadt | FT I

Candidate Answer: Only | and Il
haet [ gt ll

QID : 1090 - The direction of heat flow between two body depends on which of the following?

&t ferral & gen AT & varg i frn F=fafaa § 9 forg R AR et 82

Options:

1) Their specific heat
fafre Fo W

2) Their latent heat

ITRT T AT TR

3) Their temperatures
GIEREN

4) Their area of contact

I @i & SABA WR

Correct Answer: Their temperatures

I 19 W

Candidate Answer: Their temperatures
I A9 R

QID : 1091 - Which-disease is caused by deficiency of Vitamin A?

frarfa= A &l it & S T AT B 82

Options:
1) Beri-Beri

2) Night blindness
Zdieft

3) Rickets
T T

4) Pellagra
bl

Correct Answer: Night blindness

et

Candidate Answer: Night blindness
et



QID : 1092 - Air enters the body of cockroaches through .

ool & R d arg SR AT &t &1

Options:
1) lungs
hthg!

2) gills
Al

3) spiracles

o et

4) skin

CEI

Correct Answer: spiracles
o 38

Candidate Answer: spiracles
o 38

QID : 1093 - Which of the following carry the blood from all parts of body back to the heart?

fffEa 7 @ o RR & Tl 9T O = ot gag de o Sar 87

Options:
1) Arteries
gmfAgt

2) Veins

RREF

3) White Blood Cells
A = RIRART

4) Platelets

Correct Answer: Veins
R

Candidate Answer: Veins
R

QID : 1094 - Which of the following is an example of unicellular organism?

I. Euglena
1. Amoeba
11Il. Paramecium

frfafea & € & a1 Ue-aifdh Sita &1 e 87

1. gfraT

1. sreftam

1. drfAfwm
Options:

1) Only land Il
haet | qat il

2) Only I and llI
Shadt | g Il

3) Only Il and HI
had [l qr Il

4) All option are correct

g} fAreT Tl &

Correct Answer: All option are correct

g} fQreg Tl &

Candidate Answer: All option are correct

g} fAreg Tl &

QID : 1095 - Which-of the following controls the size of pupil in human eye?

fafafea § @ o a1 9a 33§ gaeft & s @l Fdfa wwar 82

Options:
1) Cornea

2) Iris
3) Aqueous humour
4) Retina

3 geat

Correct Answer: Iris

Candidate Answer: Cornea
Sifar



QID : 1096 - Which of the following disease is generally caused by viruses?

Frafafea 3 8 oF a1 W1 amd: fawmogst grT g 82
Options:
1) Dengue fever

STER
2) Typhoid
SIERSEE

3) Cholera
LSl

4) Tuberculosis

Correct Answer: Dengue fever
ST FER

Candidate Answer: Tuberculosis

QID : 1097 - Which of the following diseases are NOT caused by smog?

frafafea & & o a1 3 qu & =7 glar 87

Options:

1) Rickets

g A(Rehew)
2) Throat cancer
T T HER

3) Skin cancer
T ol HR

4) Breathing problem
T deeft gAw

Correct Answer: Rickets
T A (Rehe)

Candidate Answer: Rickets
T Am(Rehe)

QID : 1098 - Which of the following gas is the second most abundant gas by volume in atmosphere?

frafafea § @ o o A9 argHved § Saa & SIaR guR) a9 TgR A aTel! 79 82

Options:
1) Nitrogen

2) Ozone
SIS

3) Oxygen
CICHIGE

4) Carbon dioxide
e SZHTFATS

Cgrrect Answer: Oxygen

andidate Answer: Oxygen

QID : 1099 - With respect to humans; why-is.carbon monoxide a pollutant?
ATl & G H, P ASHTRIES Uehh R 87

Options:

1) It reacts with nitrogen dioxide

g TS STZHTATES. & 1Y S Afha sheal &

2) It reacts with sulphur dioxide

g T SISATATISS oh 1% ST Afehar &hear &

3) It reacts with haemoglobin

Tg gAvelfe I fehar el §

4) It makes nervous system inactive
g dfenT datant

Correct Answer: It reacts with haemoglobin

T gtvaitar & foram et 8

Candidate Answer: It reacts with haemoglobin

Tg gaefa § forar et

QID : 1100 - Oil spills is seen in which ecosystem?

e R fene okt &= # 3t Sirar 82



Options:
1) Desert ecosystem
GE

2) Grassland ecosystem
GE

3) Forest ecosystem
g uiRfefahr &

4) Marine ecosystem
GE

Correct Answer: Marine ecosystem
e GEl

Candidate Answer: Marine ecosystem
GE

QID : 1101 - What kind of contact can be established for a higher pair?

o UehR T WU S Sitet § T gtar &2
Options:
1) Point contact

2) Surface contact
g Huh
3) No contact

4) None of these
B EEEIEE]

Correct Answer: Point contact

Candidate Answer: Point contact

foig duds

QID : 1102 - How many degrees of freedom exist in a free body in space?

Siqdier 7ok P & fog e wiei i wiegg 27
Options:

1)3

2)4

3)5

4)6
Correct Answer: 6
Candidate Answer: 4

QID : 1103 - A mechanism can be classified into a structure when the degree of freedom is

Ten iffeRaT ot Ues T | avffepd famam 511 wehar & e W@dd wife gl
Options:

10

2)1

3)2

4)3
Correct Answer: 0
Candidate Answer: 2

QID : 1104 - Which of the following is used for controlling fluctuations in an engine?

FrffEa # § oot a1 g9 | 1fRRar &t fAdfa wear 82
Options:

1) Control valve

[ERENCIc|

2) Flywheel
TiUTeres T5h
3) Governor

4) Flywheel and Governor both
TicraTereh ¥ 3R TaR

Correct Answer: Flywheel and Governor both

TfraTetes ek SR TR gt



Candidate Answer: Flywheel
Tsh

QID : 1105 - Which term defines the fluctuation of speed of a flywheel in terms of angular speeds?

& 1 faehed Fivlig ara & aeof & ifodreres Teh & SifRar & aRenfta w=ar 82

Options:

1)
2(w,-a,)
@, + @,

2
2(@,+a,)

@, — @,
3)

@+ @y
2@ —a;)
4)

@y —
2[@- - @y |

Correct Answer:
2(w,-a,)
@, + @,
Candidate Answer:
2(@,—a,)

@, + o,

QID : 1106 - What is the velocity ratio for a slip in the belt drive system?

T gr3a R & e & g 3 srgurd R &2

Options:
1)

N _di+tf, s
N, d,=t\ 100)

2)
N, dy+t(, s
N, dy+t| 100/}
3)

N, _di-tf, s}

N, d,-f. 100)

4
Ny _dyst(, s

N, d.<tl 100

Correct Answer:

Ny _diwtfy s )
N, dy+t\ 100)
Candidate Answer:
No_di=tfy &)
M, dy+itl 100}

|
7

QID : 1107 - Which of the following is NOT classified as types of link?

fafafed & © @i a1 fofes & UeR & v § afferd w18 82
Options:

1) Rigid link

ETIEED

2) Flexible link

GEISIIRED

3) Fluid link

RIGATED
4) None of these



Correct Answer: None of these

Candidate Answer: Fluid link
e foien

QID : 1108 - Which of the following can be said to be equivalent with the frictional torque transmitted by a disc or plate clutch?

FfafEa # 8 o 1 f$% a1 wie oo gRT TaRd avfoT S7guT & SRTeR gl ST HendT 87

Options:
1) Flat pivot bearing
Tl UTEate 3t

2) Flat collar bearing
TRAC GAIeR FIART

3) Conical pivot bearing
EFATRR UTgdte SR

4) Trapezoidal pivot bearing
FHRIRR UTgale FHRT

Correct Answer: Flat collar bearing
TAT IR FIART

Candidate Answer: Trapezoidal pivot bearing
FHRIGRR UTgale FHRT

QID : 1109 - What should be the incremental factor for the number of shoes, if the engagement speed for the centrifugal clutch-needs to be doubled?

IS Sruchi=a aera & forg Hafma 7fd G gl €t o & I & forg gfsfie wre @ g anfeg?

Options:
1) 0.5

Correct Answer: 2
Candidate Answer: 0.5

QID : 1110 - Two gears are said to have a conjugate motion if

SEEIURIEI SRR TECTEC G S

Options:

1) they have a very small fluctuating angular velocity
I UTY Igd BT AR wivfig am gl

2) they have variable angular velocity

3T UTH TR 0T T T &1

3) they have constant angular velocity

I U AR wivfig dr gl

4) they have very high fluctuating angular velocity
I UTH Igd 1R R wivfig 3 &

Correct Answer: they have constant angular velocity
I U fRRR wvfia g 8

Candidate Answer: they have constant angular velocity

3% U fRR Aot AT gl

QID : 1111 - Which of the following is CORRECT. for the speed ratio of a gear train?

frfafea & & o a1 R &9 & 7ifa sigond & forg @it 87

Options:
1) Speed of driver/speed of driven
Tereh Y If / nifa Fr iy

2) Speed of driven/speed of driver

Tt Y i/ areren K vy

3) Number of teeth on driver/number of teeth on driven
f &Y Te/ =ik o= il hr g

4) None of these

1 & i T

Correct. Answer: Speed of driver/speed of driven
TTereh Y TR/ Tfa Y iy

Candidate Answer: Speed of driven/speed of driver

it &Y mifa/ametes i fe

QID : 1112 - When the relation FC = a.r+b is satisfied for a spring controlled governor as the relation between controlling force (FC) and radius of rotation (r).This type
of governor is known as

9 =Y FC=a.r+b &l faf3d & aret a1 (FC) ofRk e &t B (r) & farar & ey & &0 7 81 Aaf=a maek & forg dqe giam 81 a7k &1 98 UaR gl



Options:
1) stable
@R

2) unstable
R
3) isochronous

4) hunt
g

Correct Answer: unstable

Qandidate Answer: hunt
gc

QID : 1113 - Which of the following equation holds TRUE for height (in decameter) of the watt governor?

FafefEa § @ o Ot Tt afer Ta-R & Farg (SHrHiex #) & forg adt 82
Options:

1) 8.95/N2

2) 89.5/N2

3) 895/N2

4) 8950/N?

Correct Answer: 89.5/N?

Candidate Answer: 895/N2

QID : 1114 - Which ratio defines the height of a porter governor to that of the watt governor for equal arm and link‘lengths, where m is the mass of the ball and M is
the mass of the sleeve?

I T IIUTA Tk UIER Ta-R Y HaTg ahl SRTeR o1 R folfeh wfars & forg ate mawik & w0 & uRenfia srear & Sigt m 7ig ol g & 8k M ST T e 872

Options:
1)

M+m

4)

M+m

M

Correct Answer:
M<m

m

Candidate Answer:
M<m

M

QID : 1115 - What offset is provided for a cam follower mechanism?

& ThiTTIaR df &l SiTthele T TaH ad 8?2
Options:

1) To avoid jerk

FTH g

2) To accelerate

i IgM & fag

3) To decelerate

4) To minimize side thrust

ursf ST S & & g

Correct Answer: To minimize side thrust
ursf ST S & & g

Candidate Answer: To minimize side thrust

ursf ST & & & g

QID : 1116 - Which of the following is NOT considered as a basic type of strain?
frfafea 7 @ g veR & gl & w9 § 8 A S Fenan 82



Options:
1) Compressive strain

2) Shear strain
&Y et
3) Area strain

4) Volume strain

Correct Answer: Area strain

Candidate Answer: Area strain

ot fagpfr

QID : 1117 - Which type of support has a reaction and a bending moment components?

ufaferar ofR s sref gee & fhg UeR @1 a9 82
Options:

1) Hinge support

FHeoaR YA

2) Roller support

Jer Tuefa

3) Fixed support

R gmde

4) None of these
eI

Correct Answer: Fixed support
feR gmfa

Candidate Answer: Fixed support

R TodT

QID : 1118 - A rod with a length of 100 cm and diametre of 4 cm undergoes an axial pull of 50 kN. What is:the stress (in N/mm?2)?

100 Ydrfiex it <ters ok 4 Ydefier & e & Grer gan e 50 kN & Ueh 3feffar et ol GraeT ehea 21 ufdsiet (N/mm?2) o 2

Options:

1) 0.04

2)0.4

3)4

4)40

Correct Answer: 4
Candidate Answer: 0.4

QID : 1119 - Which of the following is TRUE for factor of safety?

e qureh & forg e F @ & o e g

Options:
1) Tensile stress/Permissible stress

T wifrerer/ srgAd fapfa
2) Compressive stress/Ultimate stress
Hdter fagfa/sifem
3) Ultimate stress//Permissible stress
sifer farepfet/ srga fapfa
4) Ultimate stress/Shear stress

iferst farepfar/ sToegor

Correct Answer: Ultimate stress//Permissible stress
sifam faepfa/srgra fagpfa
Candidate Answer: Ultimate stress//Permissible stress

sifers farepfel/ ergaa fapia

QID : 1120 - If one end of the hinged column is made fixed and the other is free, then by how much the critical load is compared to the original value ?

foRaT AUl R 9T Hed @ o1 hl STTeht & It fo7m T & Ueh AR ol 74 o SimelT 8 iR g@R1 h 87

Options:
1) 0.25

2)0.5
3)2

4)4
Correct Answer: 0.25
Candidate Answer: 4



QID : 1121 - For which type of column the buckling load will be maximum?

fora e & T & fA aardad 9R sifderdw ghm?
Options:

1) One end clamped and other free.

Ueh BR FUE 3R @1 Wi

2) Both ends clamped

T BR FS

3) Both ends hinged
3l BR SeetaR

4) One end hinged other is free.

Tk heolaR GE Wl

Correct Answer: Both ends clamped

gl BR Frs

Candidate Answer: One end hinged other is free.
Th heolaR GE Welsl

QID : 1122 - What will be the effect on Euler’s crippling load for a column with both ends hinged, if the length of the column is halved?

IfE i I <ars sl g1, ot a1 =T 3 A1 Teh hie o folq ger o foheiTT @S U= aRIT S1eR US?
Options:

1)0.25

2)0.5

3)2

4)4
Correct Answer: 4
Candidate Answer: 2

QID : 1123 - Which is the CORRECT reason for the 5%-10% of error in Euler’s crippling load, when estimated theoretically?

R o foRfaedT ate & e & 5% -10% % forg |t TRUT &4 61 8, 579 Agifcieh ¥U & AT T 7am?
Options:

1) Effect of direct stress is neglected.

T& Htaet a1 THTa Jufed g

2) Presence of friction in pin joints.

o St & afor i Sufefa

3) The assumptions made are not met in real life conditions.

TS TS A3 ht arafdes sita- RAfaal Site g e

4) Material does not behave as an ideal elastically.

Irft IHE &Y G U 31eef FU F HIgR g et |

Correct Answer: The assumptions made are not met in real life conditions:

TS TS AT ht arafae st fRAfaal Sivs =gt B!

Candidate Answer: Material does not behave as an ideal elastically.
It IHE &Y G Uk 31eef FU F FIgR g1 et |

QID: 1124 - If a load of 40 kN is applied in a compressive manner on a rod whose cross section is 10 mm x 20 mm. Then what will be the compressive stress (in
MPa) on the rod?

I 40 kN T 9R Teh ©€ TR Y aish & ANLENI &, [Srent shig da= 10 mm x 20 mm &1 dt o Geites ufdaer (MPa) fera ghm?

Options:
1)0.2

2)2
3) 20
4) 200

Correct Answer: 200
Candidate Answer: 20

QID:1125-
What will be the thermal stress developed in a rod having a

diametre of 4 cmand length of 2 m_It experiences heating from
temperature 50°C to 200°C. The coefficient of thermal expansion
is &=10%10"/°C and young's modulus is 250 GPa?

Uh @5 Toladm! o 4 cm X dd1s 2 m AR de= 50°C §
200°C HJHG HLAT 5] TS DI 3631 Ulcidel =T S19N| ATUH UHK
IR o =10% 107 / °C 3R T AMGTF 250 GPa &7



Options:
1) 300
2) 325
3) 350
4) 375

Correct Answer: 375
Candidate Answer: 325

QID : 1126 - Which of the following is a dimensionless quantity?

rafea # @ e a1 RmRifea afr 82

Options:
1) Shear stress
SO Afcreret

2) Poisson's ratio

sigard
3)
Torque

4) None of these
g

Correct Answer: Poisson’s ratio
Uget srguTa
Candidate Answer: Poisson’s ratio

Yzt srguTd

QID : 1127 - Which of the curve is best suited for linear elastic-hardening plastic material?

Aes TATRIAT- U et es Tt 3 forg -3t ach qere Sugeh 82
Options:

1)

a

2)

3)
O

4)
Lo

NS

Correct Answer:
T A

n



Candidate Answer:
a

QID : 1128 - Which formula CORRECTLY depicts the elongation in a composite body?

1 & I B 7 G T Tk TRRehioT A gxifar 82

e

P[;. Iy E ok ]

QID : 1129 - What is the formula for elongation of a conical bar (with length'L and'self weight W) due to its self weight?

31U T o FoT o HRVT AR IR (FaTs T 3R @ aoi ey & faez & forg o &7
Options:
1)

WL

WLE
2A__E
Correct Answer:
WL
2A_..B
Candidate Answer:
WLE
2BE

QID : 1130 - What will be the value of Poisson'’s ratio, if the elasticity and rigidity of the material is 200 GPa and 66.67 GPa?

e, Yeh T &t TR 3R ggdl 00 GPa 3R 66.67 GPa dt Uigwl SuTd o1 gim?



Options:
1)0

2)0.25
3)05

41
Correct Answer: 0.5
Candidate Answer: 0.25

QID : 1131 - What will be the dryness fraction for liquid (m4) and vapour (m5) mixture?

ga (mq) 3R (my) %ﬁwgﬁﬁﬂﬁ?wiﬂm?
Options:

1)

x = (my+mg)fm;
2)

¥=(ms+mgz)/mz
3)

*x= my [{my+mgz)
4)

*= mg A{my+mg)
Correct Answer:
*x= mg A{my+mgz)
Candidate Answer:
X = (m.+m2)}'m‘

QID : 1132 - What is the amount of maximum work that can be extracted from a Carnot engine working between‘temperature 1000 K and 100 K?

1000 K 3R 100K & e & st s o 38 PiHle o9 § [Rehet 3@ Sifdreram soref & amm @ 82
Options:

1) 0.1

2)0.5

3)0.9

4) 0.99
Correct Answer: 0.9
Candidate Answer: 0.9

QID : 1133 - When the degree of randomness increases, what is the change in entropy ?

ST agfwded i feTft 9g St 8, df St 7 sreera @ gtar 87
Options:

1) Decreases

A B STt 5

2) Increases

G ST &

3) Unpredictable

ST

4) Remains constant
I Bt @

Correct Answer: Increases
Er3

Candidate Answer: Remains constant
qHE

QID : 1134 - Fora heat pump, the second law of efficiency can be written in the form

ek AT UY & folg <arem o quwt o ____ avg @ forar 11 ek 21
Options:

1)

(First law efficiency)x(1-T/T,)

2)

(First law efficiency)x{1+T, /T.)

3)

(First law efficiency)x(1- T, /T.)

4)

(First law efficiency)x(1+T./T,)



Correct Answer:
(First law efficiency)x(1- T, /T3)

Candidate Answer:
(First law efficiencyjx(1-T./T.)

QID : 1135 - Which entropy value best defines the state of water at triple point?

Gt 1 =TT 71 U & ek foig & ffy ot aRenfa awan @
Options:
1) Zero
™
2) More than zero
L 8 Syret
3) Less than zero
LI G FH
4) None of these
EEIEEG|

Correct Answer: Zero

Rl

Candidate Answer: More than zero
L o samEr

QID : 1136 - Which of the following cycle is used in compression ignition (SI) engine?

ZTH @ & 91 sk G 3fer (THaITs) $51 H IughT féha sirar 82

Options:
1) Carnot cycle

2) Diesel cycle
3) Dual cycle
gledt argforer
4) Otto cycle
a7tel agforat

Correct Answer: Diesel cycle

Siorer argfhet

Candidate Answer: Otto cycle

aiteY Tmgfohet

QID : 1137 - The self ignition temperature of diesel is

SIiet & Wa: Usael hl aTaaT Ugte Sl e T & 2l
Options:

1) is higher

IR

2) is lower

A

3) is same

HHE

4) cannot be determined
1 e} foRan ST Gear
Correct Answer: is lower
aH

as compared-to.that of petrol.

Candidate Answer: is lower
)

QID : 1138 - What happens when supercharging is done for spark ignition engines?

T TSaer S7 B GURETONT foRd ST OR oRT §ielT 82
Options:
1) Increase knocking
R G
2) Decrease knocking
T T STl &
3) No effect
EIEREICEE
4) May increase or decrease.
¢ g1 §¢ Tehall @
Correct Answer: Increase knocking
P g ST §
Candidate Answer: Decrease knocking

TR ge STl &



QID : 1139 - Which of the following factors does NOT contribute towards detonation in an engine?

frfafed & © &9 91 &Re 39 | faewle i fean & ahrem =g &ar 82

Options:

1) Engine overheating

o !

2) High compression ratio

g gie srgurd

3) Stoichiometric fuel mixture
g fAsor

4) Wrong spark plug

TTd TTeh T

Correct Answer: Stoichiometric fuel mixture
Zer Ao

Candidate Answer: Stoichiometric fuel mixture
Zer s

QID : 1140 - Which of the substance cannot be classified as pure substance?

& a1 uerd 3 ueref & wu & gifiehd AT fohar S eha 82

Options:
1) Chemical compounds

2) Humid air
AT gl
3) Stainless steel

4) Water
Eicil

Correct Answer: Humid air
3T gar

Candidate Answer: Humid air
3T gar

QID : 1141 - Which of the following statement is TRUE for work output of an ideal Otto cycle?

Homef st g A Rt e F o R d S s sy §

Options:

1) Increases with an increase in adiabatic index.

FGISH Ahich B gizg o T1Y TgT &

2) Increases with an increase in compression ratio.
] 3T # gfg & T g

3) Increases with an increase in pressure ratio

TSTE YT H gig o 91 FgdT &

4) All option are correct

goft 4

Correct Answer: All option are correct
g} e T8t &
Candidate Answer: Increases with an increase in pressure ratio

TETa SUTd H gfeg & T Fgar |

QID : 1142 - Which below stated statement is TRUE about a reservoir of heat?

ffafad & @ o 91 wu= SwRE & oy It g?

Options:

1) It has a variable temperature.

3G Teh AT aTOHH 8

2) The heat exchange is reversible.

w1 fafm Iervita @

3) It has a finite heat capacity.

3! Ueh AT ST eriRar &

4) There exist no real heat reservoirs.
FEHIRA HIS[E el &

Correct Answer: The heat exchange is reversible.
3T fafma 3o

Candidate Answer: There exist no real heat reservoirs.

IS aTafdeh SSIRRT HISE el &

QID : 1143 - If a heat engine produces work without the consumption of energy, then what kind of machine is this?

Tfe Teh ST &9 St bl @ud & {91 s T &1 T8 b wepr ot A= 82



Options:

1) Perpetual motion machine of first kind (PMM1)
gl =g i ey aifa w2fi= (fromes 1)

2) Perpetual motion machine of second kind (PMM2)
IR TR & e i A (digwg 2)

3) Perpetual motion machine of third kind (PMM3)
AR R it ameya T w=fi= (hrgagw 3)

4) None of these

ERER AR

Correct Answer: Perpetual motion machine of first kind (PMM1)

ugett axg i «msyd i At (fremem 1)

Candidate Answer: Perpetual motion machine of first kind (PMM1)

ugett axg i «msyd i At (fremem 1)

QID : 1144 - In a P-T phase diagram of a pure substance, which of the following lines separates solid and liquid region?

5 Tard & forg Y-8 =vor e &, e ufhal & @ o 91 319 ofR et & Y SrelT vt 82

Options:
1) Sublimation lines
3

2) Vaporization line
arefeRzor @

3) Melting or fusion line
71 Fera @M

4) Triple point

Correct Answer: Melting or fusion line
e a1 deae an

Candidate Answer: Melting or fusion line

forere™ a1 Yo @n

QID : 1145 - What is the dryness fraction (x) of a saturated liquid-vapour mixture?

T &g-ars fArsror & grE A9 Shar (T R 87

Options:
1)0

2)0
3)1

4) Cannot be determined

fRafRa =gt forar ST g &

Correct Answer: 0

Candidate Answer: Cannot be determined

FrefRa gt forar s aear g

QID : 1146 - A gas is compressed frictionless from an initial state of 0.4 m3 and 0.1 MPa to a final state of 0.2 m3 and 0.1 MPa. There is a transfer of 35 kJ of heat
from the gas. What is the change in internal energy (inkJ)?

Teh 119 0.4 m3 &l et s ik 0.1 MPa @ 0.2m38iR 0.1 MPa @l sifom fRfY @ forr gan 81 19 @ 35 KJ ISAT &l WHTaR0T 8T 81 SiidRes Foif & ufRade (kJ) & e 82

Options:
1)-55

2)-15
3)15

4) 55
Correct Answer: -15
Candidate Answer: 55

QID : 1147 ~What is the velocity of steam (in m/sec) at exit across a steam whistle which is perfectly insulated and does not perform any work and undergoes a drop
of 0.2 kJ/kg in enthalpy from entry to exit?

ek AT Hiel St gui wu & fafia & 36 e gR iR g & afd (m/sec) & o gft orR ag forelt oft aref ot w1t o & ofk ufaf® @ amer FMere™ R graremdt & 0.2 Kj/kg &1 ik
31T § qa?

Options:

1)10

2) 20

3)30

4) 40

Correct Answer: 20
Candidate Answer: 20



QID : 1148 - A heat engine performs a work of 100 kJ per cycle. The efficiency of the engine is 50%. What will be the amount of heat rejected (in kJ) per cycle?

ek ISAT Foi Ufd Teh 100 kJ T hTH el 81§57 hl G&TaT 50% 8| ufal Tsh & IsAT i @ud (kJ) R gieft

Options:
10

2) 50

3) 100
4) 200

Correct Answer: 100
Candidate Answer: 50

QID: 1149 -
What the region (2} in the p-V diagram given below is called?

T &= T p-v @ & AT (2) R el A 67

p A

(1)

Options:

1) Compressed liquid region

T a=et &

2) Saturated liquid vapour region

ol dRef arsq

3) Solid-liquid region

3 &R &

4) Unsaturated solid region

S

Correct Answer: Saturated liquid vapour region
e Rl TS @

Candidate Answer: Saturated liquid vapour region
e R T @

QID : 1150 - What happens during a throttling process?

STERIY UhaT & SR T §iaT 872

Options:

1) Steam temperature remains constant.

AT9 ATIHTE Gdd 8T &

2) Steam pressure remains constant.

19 GT9 | 3§l §

3) Steam entropy remains constant.

1Y QU HAd 3§l &

4) Steam enthalpy remains constant:

oTY YUITSHI(GaTert) Had BT &

Correct Answer: Steam pressure remains constant.
19 GT9 | 36T §

Candidate Answer: Steam temperature remains constant.
ATq ATOHT G I8l §

QID : 1151 < Steel can be hardened quickly by

e ufehar § ST} § ok gt Tehd g1

Options:
1) carburizing

process

2) cyaniding
R

3) induction hardening

e g

4) None of these

B EEEIEE]

Correct Answer: induction hardening
ESERE]



Candidate Answer: carburizing

QID:1152- has excellent resistance to acids.
# gfdre & forg I ufasiy &1

Options:

1) Permalloy

2) Constantan

3) Hastelloy
Hacing

4) Monel metal
Correct Answer: Hastelloy

Candidate Answer: Constantan

QID : 1153 - Which of the following properties pertain to cast iron?

frfafed & @ & @ 19 gaar wler @ Gafea 82

Options:
1) Resistance
gieRiY

2) Ductility
AT
3) Wear resistance

4) Toughness
THA

Correct Answer: Wear resistance

R e

Candidate Answer: Wear resistance

QID : 1154 - Ball bearing races are
afa faafr [ gt 81

Options:

1) turned

2) ground
u&s

3) nickel plated
et e

4) lapped
SIS
Correct Answer: lapped

Candidate Answer: nickel plated

fha wics

QID : 1155 - A very soft whisper may have noise level of

9gd 8 §1ch ¥ HUGHA & AR I &R gt Gkl g
Options:

1) about 10 db

e 10 Sl

2) about 30 db

T 30 Sl

3) about 40'db

T 40 Sl

4) about 100 db

1T 100 St

Correct Answer: about 30 db
e 30 Sl

Candidate Answer: about 10 db
e 10 Sl

QID : 1156 - During the machining operation
Tt SifmRem & ERM



Options:
1) the chips experience stresses
e 2 @1 s
2) the chips experience strains
fRIeq T T ST T &
3) the values of stresses and strains are always calculated for the conditions at the normal plane
T 3R T T God SHJAT Y G hl ATt & forg o i st &
4) the chips experience stresses and strains
e 2 3R B &1 SRV AT §
Correct Answer: the chips experience stresses and strains
T T ST el &
Candidate Answer: the chips experience stresses

TRreq T o1 g

QID : 1157 - The grinding wheel is considered better, if the grinding ratio is

TTEFET Fiel Bl FgaAR T ST kel ©, TS TEFET 1 ST &1
Options:

1) maximum

NRICAGEY

2) very low

dgd hH

3) average

4) minimum
Skl

Correct Answer: maximum

Candidate Answer: maximum

QID : 1158 - Jig bushes are

g g &1

Options:

1) the parts of a drill jig through which the cutting tools are operated and located
& FS I agi 9 foT ¥ STaT @ et & Iueneor Farferd ok AT gid §

2) the locating devices used in JIgS along with the fixture

fohara=R § fSi7g & TTer UdT ST aTel IUhROT cht AT fohaT STTaT &

3) the operating bushes in a jig

Ten O H SifRfeT g

4) the locating and clamping parts of a jig and fixture arrangement
ek T 3R fhereeR sraer & AT &l UaT T 3R gl et

Correct Answer: the parts of a drill jig through which the cutting tools are operated and located
Ragag

31 & & gl gl O fonT o¥n) S8t & h1et & SU0T

Candidate Answer: the locating and clamping parts of a jig and fixture arrangement
ek fT 3R fhereeR @i & 9T ahl UaT 1T 3R Gl el

QID : 1159 - The following type of gauge has gauging.sections combined on one end

fffEa ueR & o7 & Teh SR WR SIRT e et el fmm mar g1
Options:

1) progressive gauge

wATtaRfter fsT

2) fixed gauge

[RIPGRI]

3) limit gauge

AT A

4) combination gauge

SEISEKIN]

Correct Answer: progressive gauge

wfasfier isp

Candidate Answer: combination gauge

QID : 1160 - Single point thread cutting tool should ideally have
Uohdt faig T ShTest & Iueon & sresf ®u F Tg g anfgul



Options:
1) positive rake
HHRIHE h

2) zero rake
L

3) normal rake
I 3

4) negative rake
ThRIcHSh

Correct Answer: normal rake
g 36

Candidate Answer: negative rake
ThRIHEb I

QID : 1161 - The maximum heat content at 100°C in cal/m?3 is possessed by the following gas.

cal/m?3 & 100°C & a1fderam Fear arft e 19 gRr ured gt &1
Options:

1) CH,

2) SO,

3)0,

4) CO,
Correct Answer: SOy
Candidate Answer: CO,

QID : 1162 - The ratio of the specific heat at constant pressure to specific heat at constant volume for air is'equal to

a1 o forg fRaR w1 # fAfre S & fofg TR gama o= fafre ST &1 SiguTd $9eh RTeR §idT &

Options:
1)1.4

2)0.14
3)14

4) 140
Correct Answer: 1.4
Candidate Answer: 1.4

QID : 1163 - Heat pump is a device which

gl UY Teh IUeRT & S
Options:
1) convert mechanical energy into heat energy
iR Sl el SHSAT ol § Faetdl §
2) convert heat energy into mechanical energy
ST Sl St Fifdes Solt & seaT
3) delivers the heat flow low temperature to ahigh temperature in a cyclic process
Uk Ieh1g UfehaT | Ueh I=T dTIHT o fol SSAT UATE hH aTaqT &l &
4) delivers the heat from high temperature to a low temperature in a cyclic process
ST Y I ATIEE & ThIT Ufchar & &HE qraEH dd ugardr 8
Correct Answer: delivers the heat flow low temperature to a high temperature in a cyclic process
Teh Tch1g Tfehar & Teh I= dT9HT oh foll HSAT TaTE T aTaqT &aT g
Candidate Answer: convert mechanical energy into heat energy
i Y ST FHoll H TEoAdT &

QID : 1164 - Total heat supplied at constant volume is

e 7 § Sgfd i S arelt Gt Se
Options:

1) Q= mepx (Tz—T-l)

2) Q=mxRx(ToTy)

3) Q =mCy x (Tp+Tq)

4) Q=mCy x (To-Tq)

Correct Answer: Q = mC, x (T2-T7)

Candidate Answer: Q = mCy x (To-T7)



QID : 1165 - The efficiency of the diesel cycle increases

SISTet Teh Y G&TdT 91 de ST & STeT
Options:

1) with increase in cut-off ratio
e 3iTth 31uTd 8 gfeg & a1y

2) with decrease in cut-off ratio
e STt YT H A & a1y

3) remains unaffected

YT 5T &

4) unpredictable

TS

Correct Answer: with decrease in cut-off ratio
e AT ST | St & T
Candidate Answer: with decrease in cut-off ratio
e AT STIUTd | St & T
QID:1166 -

In a polytropic process

e ureie e uf i
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2) (b) Only

Fad (b)

3) (c) Only

%had (c)

4) (d) Only

et (d)

Correct Answer: (c ) Only
aet (c) [OR] (d) Only
haet (d)

Candidate Answer: (a) Only
Fad (a)

QID : 1167 - The volumetric analysis of dry products of combustion

TET & 5 ST ol ST fasawT

Options:

1) bomb calorimeter,
Eel

2) viscosity meter

3) orsat apparatus
TRYT IUGHT
4) calorimeter

Correct Answer: orsat apparatus

JUhIIT

Candidate Answer: bomb calorimeter
H

QID : 1168 - A carnot engine rejects 30% of absorbed heat at a sink at 30°C. The temperature of the heat source is

Ueh hRATE 3579 30°C IR &k & 30% SraxniSa ST ot WISt &RaT &1 ST Sid T aT9qH 8-



Options:
1) 100°C

2) 433°C
3) 737°C

4) 1010°C
Correct Answer: 737°C

Candidate Answer: 737°C

QID : 1169 - Which one of the following phenomena occurs when gas in a piston-in-cylinder assembly expands reversibly at constant pressure?

A 5 @ A1 e geAT a9 gt & 519 Yo fe-39-Ridier st # A9 Uete o fARaR gama | therdl) &7

Options:
1) Heat is added to the gas
ST Y A H ST ST 8
2) Heat is removed from the gas
AT g & STt
3) Gas does work from its own stored energy
A ot T Y Gufed Hoif @ i el &
4) Gas undergoes adiabatic expansion
ToRar
Correct Answer: Heat is added to the gas

AT Rl A § ST ST 8

Candidate Answer: Gas undergoes adiabatic expansion

A4 gfeamsfes fowar & orar g

QID : 1170 - A Carnot heat pump works between temperature limits of 277°C and 27°C. Its COP is

ek thRAE ST UY 277°C 3R 27°C &Y AqaT= 7 & ofier it ol &1 3ehT st &

Options:
1) 1.108

2)1.2
3)22

4) 9.26
Correct Answer: 2.2
Candidate Answer: 2.2

QID : 1171 - For an open channel at critical depth the flow becomes

eh GAT IIeT AgaqUf g5 UR FaTg T I STl &
Options:

1) Constant

Hdd

2) Zero

S

3) Half

3T

4) Maximum
Correct Answer: Maximum

Candidate Answer: Constant
Hqdd

QID: 1172 -
In case of pump the specific speed is given by:

Uq &AM A ARy nfagridi s ©
@ 22 gy 2ol

= =%

. NP N.jo
() — (d) —
= e



Options:
1) (a)

2)(b)
3) ()
4) (d)

Correct Answer: (d)
Candidate Answer: (c)

QID : 1173 - The units of kinematic viscosity are

FRAfee foeniage &Y AT &
Options:
1) m%/s

2) kg-s/m?
3) N-s/m?2

4) N-sZ/m
Correct Answer: m?%/s

Candidate Answer: N-s/m?

QID : 1174 - The hydraulic mean depth for a pipe water is equal to: Where d is the diameter of the pipe
T3y & U & g grsgifcie ofed eRTs SRR gidll &:57gT €Y ursu s s glar &

Options:

1)d/2

2)d/ 4

3)2d

4) 2nd

Correct Answer: d/ 4
Candidate Answer: 2nd

QID : 1175 - Vertical distribution of velocity in an open channel for laminar flow can be assumed as

SABATER vaTg & o Uep et 39t & 371 & S1eid fIa=oT 39 & &0 § 9141 1 Gohall &
Options:

1) logarithmic

BEED

2) parabolic

Rreifere

3) straight line
reft T

4) hyperbolic
afay

R
Correct Answer: parabolic

Candidate Answer: straight line

QID : 1176 - Which of the following'is an‘example of phenomenon surface tension?

371 & @ I A1 geAT Idg aTa, ST IETER0T &7

Options:

1) Rain drops

qIRT A F&

2) Rise of sap in a tree
Qeh Ug H ¥ (3IgR) 1 9T
3) Break up of liquid jets
TR S @l e

4) All option are correct
gt 4

Correct Answer: All option are correct

g} fqrey Tl &

Candidate Answer: Rain drops

IR AT G

QID : 1177 - The height of the free surface above any point is known as

forelt oft foig @ <k Tag i Fa1E A v &9 & ST 17T @



Options:
1) static head
f@rgs

2) intensity of pressure

ESIEEIGIERH

3) both static head and intensity of pressure
R &< ok qama Y faar a1

4) None of these

EEEEIEET]

Correct Answer: both static head and intensity of pressure

&R g ofiR gama f dtear =1

Candidate Answer: static head

f@Rgs

QID : 1178 - The metacentric height of battle ships is
Options:

1)0.3mto0.8m
0.3m¥0.8m

2)1.0mto1.5m
1.0mto1.5m
3)25m¥3.5m
25m¥3.5m

4)50mto 6.0 m
50m¥6.0m

Correct Answer: 1.0mto 1.5m
1.0mto1.5m

Candidate Answer: 5.0 mto 6.0 m
50m¥6.0m

QID : 1179 - The loss of head due to sudden contraction is equal to

ATk Yd o HRUT 2 Y g1 3% SRR &
Options:
1) 0.75v%/2g

2) 0.75v%/4g
3) 1.5v%/2g

4) 0.25v%/2g
Correct Answer: 0.75v2/2g
Candidate Answer: 0.25v2/2g

QID : 1180 - The value of critical velocity is governed by the

Tgayuf 3 & ge ot A fmar smar &
Options:

1) inertia force

ERIRpPIEK]

2) viscous force

faeenta st

3) ratio of inertia force and viscous force
ST I SR fAwenre st T SguTd

4) None of these

T Y A T

Correct Answer: ratio of inertia force and viscous force
e I 3R fATha gt 1 Ut
Candidate Answer: inertia force

AT It

QID : 11817 -if a thin plate is held parallel to a fluid stream the pressure drag on it is:

TfE Teh Udell Wi i ga ¢RT & JHMIR T STaT ¢ df 39 W i S aTelt &a1d i
Options:
1) maximum
SYTETa’
2) minimum
gAdH
3) zero
T
4) None of these
a !



Correct Answer: zero

T

Candidate Answer: maximum
SYTETaR

QID : 1182 - The weir with thick crest is known as

A& @ & ATy aTet dR Y 59 TG/ ST S 8
Options:

1) drowned weir

ERISICIES

2) broad crested weir

a1 Shies aTsR

3) suppressed weir

LR

4) cippoletti weir

drterdt asR

Correct Answer: broad crested weir
hied aTR
Candidate Answer: broad crested weir

a1 e arR

QID : 1183 - In case of depressed nappe the pressure of air below the nappe is

e A1at & A A A1t & i & gar & 59T & Fwd &

Options:
1) less than atmospheric
] JHA

2) more than atmospheric

3) equal to atmospheric
] TR
4) None of these

T & g T

Correct Answer: less than atmospheric
] Sl

Candidate Answer: less than atmospheric
] I

QID : 1184 - The type of turbine recommended for a head of 10 m is

10 Her & 3< & fore FRAHIRRT &Y 73 A5 FT PR §
Options:
1) Francis turbine
IGGEECIES]
2) Kaplan
Easic)

3) Pelton wheel

C{
4) None of these

T & IS T

Correct Answer: Kaplan

Ce}ndidate Answer: Francis turbine
[ECIES

QID : 1185 - The head of waterrequired for Pelton wheel is

Uee gl & fIU 3Magaeh Ul &1 g€ 8T &
Options:

1) low

&H

2) medium

HegH

3) high

3=

4) None of these

T & g T

Correct Answer: high
3=

Candidate Answer: low
)



QID:1186 -

Match List | with List Il and Select the correct answer
using the codes given below the lists.

At 1 o T g | T A B 3R A G0 T @IS &

TN b Tel SR O
List 1 List Il
gl el
Loss (Parameter responsible)
JREH
A | Leakage loss 1 | Zero at design point
FoE @ geae | | oo fog w3
B | Friction loss 2 Pro%grii{mal to head
Tfor T TS @ 1o IR
C | Entrance loss 3 | Proportional to half
Jd of relative velocity square
HUEE o T T A F
I o
Options:
1) A-1; B-2; C-3
2) A-2; B-3; C-1
3) A-1;B-3;C-2
4) A-2;B-1;C-3

Correct Answer: A-1; B-2; C-3
Candidate Answer: A-2; B-1; C-3

QID:1187 -

Consider the following equations:

5w grisol W AR &

1. AV, =47,
B v
dx dy

8 -
3[ pv.nf.{—i-a_‘[ pdV =0

il Z v, )+ —(v.)=0

»oor cZ
Which of the above equations are forms-of continuity
equations? (Where u, v are velocities and Vs volume)

TRIgd THie # 9§ FF g feara gdten &
T E? (W51 u, v AT g AR VAT

Options:
1) Only 1
haet 1

2)1and2
18R 2
3)2and3
28R3
4)3and4
33k 4

Correct Answer: 1 and 2

13fR2

Candidate Answer: Only 1
Fae 1

QID : 1188 - Two pumps can operate independently at heads H1, Hy and discharges Q4, Q, respectively. If the pumps are connected in parallel, then what are the
resulting discharge (Q) and head (H)?

3 G0 AT Hy, Hy 3R Fd@T Qq, Q) & 88 IR Wdid TY & & & Gk 81 AfE U0 GAMIAR A S gV &, df aRumeasy feg (Q) ok &R (H) T €2



Options:

1)Q=0Q1+Q;

H=Hy +Hy

2)Q=0Q1-Q;

H=Hq-Hy

3)Q=Q1=Q,

H= H-| = Hz

4)Q=Q1+Q

H= H'I = H2

Correct Answer: Q = Q1 +Q;
H= H-| = Hz

Candidate Answer: Q = Qq + Q)
H=Hq+H,

QID:1189-

Match List | with List Il and Select the correct answer
using the codes given below the lists.

1 3 T g | B A B SR A G T @IS &l

ST B T TR T
%‘1 List Il
| Il
A | Dynamic viscosity | 1 [M.Tf T I
ST
i
B | Moment of 2 [MI‘I T ':I
momentum
Tfcf BT &7
C | Power 3 [T |
ElES]
D | Volume modules of | 4 !_.11?_’1"3]
elasticity
& OE
ISP
5 T ]
Options:

1) A-1; B-4; C-2; D-3

2) A-3; B-5; C-1; D-2

3) A-1; B-5; C-2; D-3

4) A-3; B-4; C-1; D-2

Correct Answer: A-3; B-5; C-1; D-2
Candidate Answer: A-3; B-4; C-1; D-2

QID : 1190 - What are the dimensions of kinematic viscosity of a fluid?

=t et i At fwprage & smam w=ng?
Options:

HLT2

2) 1271

HMLITT

4HML2T2

Correct Answer: L2 T~

Candidate Answer: M\L-2T2

QID : 1191/~ When can a piezometer not be used for pressure measurement in pipes?

Tyl # ST AT & I Yok UrseiiHieR 1 SuT e gl fohar ST Tehdr?
Options:

1) The pressure difference is low

TS SR A

2) The velocity is high

Eukis]

3) The fluid in the pipe is a gas

ugu At g ag o A B

4) The fluid in the pipe is highly viscous

U730 A St &9 § 9 9gd faeni §

Correct Answer: The fluid in the pipe is a gas
LRI CR G



Candidate Answer: The pressure difference is low
AT AR BAE

QID:1192-

Mafch List | (Measuring devices) with List Il (Measured
parameter) and select the correct answer using the
codes given below the lists.

Il (HTS 9 aTe 3 & WY Gl | (@UE
AT ) &1 Hd &4 2R d fou 70 &1 &1 smam

Fd Fal IR G

List 1 List Il

Tt | Tt

(Measuring instrument) | (Variable to be measured)

(FTHI0T Bl HIT)

A | Pitot-tube 1| Flow static pressure
URee &8 TaTE R eIl

B | Micro-manometer | 2 | Rate of flow (indirect)

HdTS & & (T4

C | Pipe bend meter 3 | Differential pressure
ey 8 Hiex gaE | R

D | Wall pressure tap | 4 | Flow stagnation pressure
I URR <Y vdTE FRRdl e

Options:

1) A-1; B-3; C-2; D-4

2) A-4; B-3; C-2; D-1

3) A-1; B-2; C-3; D-4

4) A-4; B-2; C-3; D-1

Correct Answer: A-4; B-3; C-2; D-1
Candidate Answer: A-1; B-3; C-2; D-4

QID : 1193 - During the opening of a valve in a pipe line, the flow is

Tk UT3Y W13 § Ueh dled @ier & SR, UaTg 34T gidT 8

Options:
1) steady
fafia

2) unsteady
AfER
3) uniform

THIAT

4) laminar
Correct Answer: unsteady

Candidate Answer: unsteady

QID : 1194 - Flow occurring in a'pipeline when a valve is being opened is

qred il ST IGT & ST Ueh T8y of1g 8 g+ aTelt Uell &

Options:
1) steady

2) unsteady
3) laminar

4) vortex

Correct Answer: unsteady
Candidate Answer: unsteady

QID : 1195 - The pressure in Pascals at a depth of T m below the free surface of a body of water will be equal to

e § U & ded it 1 HYex i TeE H 776 Tag 9 A9, garg 39 s)eR g



Options:
1) 1Pa

2)98.1Pa
3)981Pa

4) 9810 Pa
Correct Answer: 9810 Pa
Candidate Answer: 981 Pa

QID : 1196 - The efficiency of a centrifugal pump is maximum when its blades are

ek FaTUIRS UY Y gefdT ad Sifdendd gidt & Sid 39 sl 59 SR § g &

Options:
1) straight
e

2) bent forward
S TR g

3) bent backward

i g ST @

4) bent forward first, and then backward
ST Fha 5, 3R R di

Correct Answer: bent backward

i® g ST 8

Candidate Answer: bent backward

i® g ST 8

QID : 1197 - Indicator diagram of a reciprocating pump is a graph between

Teh UREReh U T Teheleh 371 [eheieh il &1 Teh UM g1l &

Options:

1) flow vs swept volume

YT S W afegd

2) pressure in cylinder vs swept volume
&= 7 gara g ey afegs

3) flow vs speed

HaTg S i

4) pressure vs speed

<dTd 91H

Correct Answer: pressure in cylinder vs swept volume
fidie # gama 3w 9y ategs
Candidate Answer: pressure in cylinder vs swept volume

fidie # gama I fau ategs

QID:1198 -
The figure given below shows the relationship between
power (P) and discharge (Q) for different vane exit
angles of centrifugal pump. In the figure given below,
curve C holds good for:

Hio fQu v e g, FEvuNe Ud o fafim a9 ufiere
B F e grex (P) 3R 3@ (Q)ds &g & Jay
?a&ﬁ%%z T feu e a4 e c g & fom et

| CurveC




Options:

1) vane exit angle of 90°

900 &1 37 gfTe htoT

2) vane exit angle of less than 90°

900 & & a1 3 TfSie YT

3) vane exit angle of more than 900

900 @ urer &1 3 gfeie &ior

4) any vane exit angle

g oft 37 ufsre sptor

Correct Answer: vane exit angle of more than 90°

900 § SgTeT &1 9 USIE hiuT

Candidate Answer: vane exit angle of more than 90°

900 @ surer &1 8 isie @ior

QID : 1199 - An impulse turbine

Ueh 3o eRaTST

Options:

1) operates submerged

SerH gt o

2) requires draft tube

ST &[F I STagendT gl &

3) is most suited for low head applications

FH B I & fo T Iugh &

4) operates by initial complete conversion to kinetic energy

Correct Answer: operates by initial complete conversion to kinetic energy
quf EYieRoT gRT

Candidate Answer: operates submerged

ST g1 TaTferd giaT &

QID : 1200 - If a is the angle subtended by two adjacent buckets in a Pelton wheel then the number of buckets is equal to

afe a Yok Oee gt | &l ST STee! ZIRT AT 7T hivT &, at STt eh T fohereh avTeR il &
Options:

1) 40/a

2) 180/a

3) 270/a

4) 360/a

Correct Answer: 360/a

Candidate Answer: 360/a



